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NuclideChainData ncd;
ncd=bu.GetBurnupChain (). GetNuclideChainData (922350);
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class NuclideChainData{
private:
int id; // nuclide ID
vector<int> ndiv; // number of yielded nuclides
// fission , capture, n2n, decay
vector< vector<real> > ratio; // ratio of each yielded nuclide
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vector< vector<int> > idnext; // ID of yielded nuclide
vector<real> decay_energy; // (eV) [elp,eem, ehp]
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Listing 3: Pu-241 000 Pd-109000000000000D00O0O0

real vall=bu.GetBurnupChain (). GetNuclideChainData (942410). GetFissionYield (461090);
real val2=bu.GetBurnupChain (). GetFissionYield (942410,461090);
cout<<vall<<” .”<<val2<<’\n”; exit (0);
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